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COMMON ENTRANCE TEST - 2008 

DATE SUBJECT TII\tlE 

19 - 04 - 2008 MATHEMATICS 02.00 PM to 03.20 PM 

MAXL.'\fiJM MARKS TOTAL DURATION MAXIMUM TIME FOR ANSWERING 

60 80 MINUTES 70 MINUTES 

MENTION YOUR QUESTION BOOKLET DETAILS 

CET NUMBER VERSION CODE SERIAL NUMBER 

A-1
37787� 

IMPORTANT INSTRUCTIONS TO CANDIDATES 

(Candidates are advised to read the following instructions carefully, before answering on OMR answer sheeL) 

l. 

2. 

E�sure that the CET No. has been entered and shaded the respective circles on the OMR answer sheet. 
ENSURE THAT THE TIMING, MARKS PRINTED Q!>1 THE OMRANSWER SHEET ARE NOT DAMAGED I
MUTILATED/ SPOILED. 

3. This Question Booklet is issued to you by the invigilator after the 2nd Bell. i.e., after 02.00 p.m.
4. E nter the Serial Number of this question booklet on the OMR answer sheet.
5. Carefully enter the Version C ode"ofthis question book.let on the 0:MR answer sheet and SHADE the respective

circles completely.
6. As answer sheets are designed to suit the Optical .Mark Reader (OMR) system, please take special care while

filling and shading the CET NO. and Version Code of this question booklet.
7. DONOTFORGETTOS IGNATTHEBO'ITOMPORTION OF OMRANSWERSHEETINTHESPACE PROVIDED.
8. Until the 3n1 Bell is rung at 02.10 p.m.:

• Do not remove the staple present on the right hand side of this question booklet.
• Do not look inside this question booklet.
• Do not start answering on the OMR answer sheet.

9. Aficr the 3n1 Bell is rung at 02.10 p.m., remove the staple present on the right hand side of this question booklet
and start answering on the OMR answer sheet.

10. This question booklet contains 60 questions and each question will have four different options/ choices.
11. During the subsequent 70 minutes:

• l�cad each question carefully.
• · Determine the correct answer from out of the four available options/ choices given under each questwn.
• Completely darken/ shade the relevant circle with a BLUE OR BLACK IN K BALLPOINT PEN

against the question number on the OMR answer sheet. 

CORRECT METHOD OF SHADING THE CffiCLE ON THE OMR SHEET IS AS SHOWN BELOW: 

@®e© 
12. Plense note that even a minute unintended ink dot on the 01\tR sheet will also be recognised and recorded by the

scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

13. Use the space provided on each page of the question booklet for Rough Work AND do not use the OMR answer
sheet for the same.

14. After the last belt is rung at 03.20 p.m., stop writing on tho OMR answer sheet and affix your LEFT HAND
THUMB IMPRESSION on the OMR answer sheei as per the instructions.

15. Hand over the OMR ANSWE R SHEET to the room invigilator as it is.
16. After separating and retaining the top sheet (KEA C opy}, the invigilator will return the bottom sheet rt>plica

(Candidate's copy) to you to carry home for self-evaluation.

17. Preserve the replica of the OMR an:;wer sheet for a minimum period of One year.

SR- 17 Turn Over 



MATHEMATICS 

1. A variable line : + � = 1 is such that a + b = 4 . The locus of the midpoint of the portion

of the line intercepted between the axes is

1) X +y =4 2) X ·+ ):' =8

3) X +y =1 4) X + y =2

2. The point (5, -7) lies outside the circle

1) x 2 +y 2 -Bx =0
. 2) x 2 

+ y 2 - 5x + 7y =0

3) X-
2 

+ y 2 - 5x + 7 y -1=0 4) x 2 
+ y 2 - Bx + 7y -2 = 0

3. If the circles x 2 + y 2 
= 9 and x 2 

+ y 2 
+ 2ax + 2y + 1 = 0 touch each other internally, 

then a=

1) ±
4

2) 1
3

4 
4) 

-4

3) 
3 

4. The locus of the midpoints of the line joining the focus and any point on the parabola

y 2 = 4a x is a parabola with the equation of directrix as 

1) x +a=O

3) X =0-

2) 2x +a= 0

a
4) X =-

2

5. The tangents drawn at the extremeties of a focal chord of the parabola y 2 = 16x 
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1) intersect- on x = 0 

3) intersect at an angle of 60° 

2) intersect on the line x + 4 = 0 · 

4) intersect at � angle of 450 

(Space for Rough Work) 
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26. If f (x) is an even function and f'(x) exists, then f'(e )+f'(-e) is

1) > 0

3) � 0

2) 0

4) < 0

A-1

27. If a is a complex number satisfying the equation a2 
+a+ l = 0 then a31 is equal to

1) a 2) a
2 

3) 1 4) l 

28. The derivative of Sin (x 3 ) w.r.t. Cos (x 3 ) is

1) -Tan (x 3 ) 2) Tan (x 3 )

3) -Cot (x 3 ) 4) Cot (x 3 )

29. A unit vector perpendicular to both the vectors i +] and ] + k 1s 

1) 

3) 

30. IfA=

1) 

a1

A A --i - j + k 

A A -

i + j + k

✓3 

bi Cl

a2 b2 C2 

a3 b3 C3

A=-B 

3) B =0
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Cl C2 C3

and B = a1 � a3 

b1 b2 b3 

2) 

4) 

A A � 

i + j -k

3 

A A � 

i -j + k 
✓3 

then 

2) A=B

4) B =A
2 

(Space for Rough Work) 














